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2, F00= (x--ax)
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y = 2 r3x=-a-x. Find Hangerd line at x=1
y'= [2X+3>(53“X)T‘(xzirﬁxﬂ)(“"}
m=y’0) = () (3)-0)= 2 = Sippe
pomnt: x=1, y= (H3-D2-D =3 (1,3)
| y*'3;2[x~1) , or y;2x-~i’|

S Xt #
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e
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Y= TxT |
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@ 3 - N & = G = Td
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2. Sity= So ( | ~ 5)3 /)ouml\s
ay ornjma”j, amt of Sond was
S(oY= so(]-0)% =S50 Pauno’d’
D) Stz s0(1- £ t2 43541 355s t°)
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- 450

y e (TR D2 oz ~17¢o0
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“"?ﬂ AT
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(3x+5)*
= exBo 24T X130 ¥IAxE AP 4 F0x - bxS 2Ix2 )y 43
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C l«a.}o}r?f 2 Section d
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Clx)= 5 x* 4 3x4 67 plx)= T4 -x): 9-F X
) ma(‘j}'na{' cost = ¢ I(X)-: ;—l{ %43

Cevenur = X-p(x)= Ix-3 x* = %-J
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) ot o 1ot 0 €5) < 313 @
&y Actuald Cost of 4™ unit = Cl4) =C(3) = (4r)20bF) = (3 +9 +67)
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(Brxy® , BrgF
o) Costof Tt % cz)= 5w CLHT
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e
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2 =
- : Y$ 13277 304Y  13-
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)= x*- 3k 5 AF 2 L£Y00) Ax, ohere Xo=S bx=.3
£0x) = % -3 AF 2 F(.3) =2,
Fls.3) = L(s)+ AF
PIsY + € () bx = és*—/\wa-) +.2.
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. 106 (2 92/6)”1) (-0 4) {00 (5"';- (-0

o changl “ 3(s) T /s s
~yp(T3hs)  _ _ssy ,
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~J15 :(g(mfé/,é A/ = C:so&d

e o A;
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the % change in earnings in 37 ff/g.f/‘éra[ 2000,

4 ) Bt

A lt)
For 3" 7Uar'4ff'f‘ of 2000 g0 go fom €= 4.5 h =475, Use
=95, Dt=o0.25, s0 A ()= 0.2L+10

> o A4.5Y(0.25) (0.9) (0,25
oo jpo NLASIOAS T 0.9)(0.25
) a[\amg.g, i X 2z 100

« p
/o Change = 100 4(q = 100

~ ‘2'7;\7'\5—- A pf — F
A e Y N YA~ e .07 7%




Chapter A, Seetfon 4

4. Clt)= 10042 4 4pot +s000  int -fmrj From no. Estrmak C
6 months From now-

(o) = 50000 aow )
Clt+ bty = C(E) +AC

e+ SO oot H00
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